[1.0I. 21
TBAT: Find the difference bhetween 2 numhbers

[. The difference hetween 2 and 7 = i)llilIi)i.lci1lol112?la[1151ITISTI_
30°C
2.8 is more than 4. Find the difference! 25°C
20°C
. What is the difference
3. The difference hetween | .and 9 = W~ botween 5°C and 8°C? [5°C
) What is 5 less than 13°C? oo
L 2 is less than 5. What is 12 more than [5°C? soc
5.The difference hetween 3 and 9 =
6.7 is more than 6.
7 3 ie less than 9. M,oﬂizlp,'oklhzwnpu,abuz.aillpm - =
and again at Spm. ‘E
8.The difference hetween & and 10 = There was a difference of 7°c ® ©

What could the temperatures he?|



